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2(a) Set:
Initial 64000 grain,

10 temperature

50 step as time goes on

The average grain size can be represented
R = Kt"

n= 0.36919, k=1.722 = (0)

average grain size
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0 100 200 300 400 500 600
time (step)
Equation a*x'b
) 0.32495
Reduced Chi-Sqr
Adj. R-Square 0.94491
Value Standard Error
average grain a 1.19424 0.22987
size b 0.36919 0.03292
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2(b) Set: Initial 64000 grain, S
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Weight No Weighting
Residual Sum 0.09789
. AG‘* - (Sl ) oquuar’es
oo ope = Pearson'sr -0.98491
Pe) X R = (14.62) x(3.214) B oot
= Value Standard Error
= (22.3 (- Intercept -1.42448 0.1851

Slope -14.69068 1.49056



